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Part - III 
STATISTICS 

Maxim um : 60 Scores 
Time : 2 Hours 

Cool off time : 15 Minutes 

~ral Instructions ta Candidates : 

r 

I 
! 

• 

There is a 1Cool off time' of 15 minutes in addition to the writing time of 
2 hrs. 

You are neither allowed to write your answers nor to discuss anything 
with others during the 'cool off time'. 

Use the 'cool off ti me' to get familiar with questions and to plan_ your 
answers. 

e Read the questions carefully before answering. 

e All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from 
the same question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

~ Give equations wherever necessary. 

e Electronic devices except nonprogrammable calculators are not allowed 

m the Examination Hall. 

m1 mtS ~ Ul>6mcm: 

tl m11nglrufs ffi)Q)WCTf®lm nJ<?P6>ill 15 mlm18 'o:n~Ub 630nD 6>6>So' ~6llSomJlro1c006o. 

gQ~) m>!IimJfCim) ~.0JJB~6ffi3cmc96) ~amnroo O{D':P6®:::>(]mo, m~ruco6momJl ~C/7>cw 

n.Jlm1aiwo msarrmo(]mJ nJ:::>s1~. 

o ~®IDC060Bcm n{j)l:96®2/rn®1m mJ,ml (]!2.JJBJ6mcf6 @BDOn.J6cO<Jdo ru:::>mJlcOOGmo. 

8 0{1)~p ~.0J08J61ITTc.ibc006o ~crnnroo o.ffi":96®6ffio. 

9 63 CCd, cg DJ :::> B j m ffiJ ib ~ ar® a> 6> Q) "9 6 ® :::> cm 6) CID CO 6> 6IU'® S 6 COlC~\~ c£b ":9161U'® 0 af3 ~ n.J 

C]!2..J:::>B,J6m3filo ®?>(]® (]!2.JOB~ mmJm1am m1mi' ®G>rm G>®a>6>6l(J®S6(]c00605®:::>6lrl'. 

o cf.b6lnc:S6) cfuJ.§e.lJicfbUO, ~l®6m3cf6, LGX>o..06cSJU6, O{Drm1ru ~amnco(]n.J~o1~arrm@rm 

I ~61rs:::>Wlro1c£t;'J6'11)oo 

I • ar@OJ CfOJQ)6fil1 ffil!J eJ~ CYUQ)OJ0£J6nBOO 6>£8S6c66)6ffio. 

I • (]!2..J~B~6CffiUD Q)e.JCQJ8~arrID1eJ6o marno:n1Wl356115". 
i l G <&ln.J:JLWJm6cEbcib @.2.lqfd:::>m:::>cfuO@ll) o:n:::>af3c66)6(]e.JR06£U6 63":?16>£CW6~ 63C06 

~8cfhailf3J6ID1ah ~n.JcSJC06fDOJ6o n.JCOidhl:l:::>nD:::>glafO ~n.J(]CWOCJ)1c0060JOOO n.J:::>S1~. 
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1. a) The journal published by ISI 1. a) IS I L n..J cru1 BD1 cfuro1cOOJfffi ffi"@ffi6cfu:J e.n 
IS ....... cfu Ln..JCTU1Bl.51cfuro6mo .......... 

i) National Accounts i) National Accounts 
Statistics Statistics 

ii) SANKHYA ii) SANKHYA 

iii) Statistics Today iii) Statistics Today 

iv) Annual Reports (I) 
iv) Annual Reports (I) 

b) Write a short note on NSSO. (2) b) NSSO -6)CQ)c006011~i 63C06 e.Jne.16 

o.JlOJro6mo O{Dl96®6cfu. (2) 

2. Classification based on time 2. CTUQ)CQJo mm s1 mill :J m Q) :J c001w6~ 

IS ................ OJ roCfA! cfuro6mQ):J6ffi ......... 

a) qualitative classification a) qualitative classification: 

b) quantitative classification b) quantitative classification 

c) chronological classification c) chronological classification 

d) geographical classification (I) d) geographical classification (1) 

3. The following data gives the ages 3. .!2J60J61S cm crn1 ro1 c00 6 cm CWOR 20 
in years and weights in kg of 20 C&C'l..J<1l661S OJCQ)<m60 ( OJ f6 nS1 rnm1 co?J ) 

persons. @:JCOOJJp ( cfu 1. L (J):J afl cefO) cru J.!l..fl ~ cOOJrrn 
@:JGffi: 

Age 15 16 I 11 18 16 19 17 25 21 24 17 15 

Weight: 40 49 47 46 62 55 59 46 68 69 59 43 
I 

I 
Age 16 22 18 I 26 20 28 25 17 

Weight: 71 51 62 42 41 60 45 I 48 
I I 

Prepare a bivariate frequency 63ro6 61616YlJ~OJro1e&w8 ffi"@0.J~mm1 n..J3)cfu 

table. (4) ®~:J00c006cfu. (4) 

4. For a symmetric distribution : 4. 63C06 cru161am LSlcfu' cw1m5'LS16YlJ~nS1 m1m?J ....... 

a) Mean < Median < Mode a) Mean < Median < Mode 

b) Mean < Mode < Median b) Mean < Mode < Median 

c) Mean = Median = Mode c) Mean = Median = Mode 

d) Mean = Median > Mode (I) 
d) Mean = Median > Mode (I) 
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5. Some details of two 

distributions are given below. 
1 

Distribution 1 Distribution 21 
Mean 52.80 23.20 

Median 59.35 30.10 

SD 
I 

25.10 4.50 

Which is more skewed? 

6. 100 people were asked to record 

the number of television 

programmes they watched in a 

week. The results were as 

follows. 

No. of programmes 0-10 

No. of viewers 9 

Draw a histogram. 

7. The pie chart shows the voting 

in an election in which there are 

four candidates. 

Mr.R 
8500 votes 

(4) 

10-20 

16 

(4) 

5. ro 6n'S" nJl cmro Gm6m3~ 6) s .!l1l ~ n.f1 ru ro6m3 cJO 

.!l.J3ru@s ~.!l.Jrowrm1ro1c003cm3. 
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n.f1 cmro Gmo 1 n.f1 cm ro Gm o 2 

QlOWJO 52.80 23.20 

miM1w<fb 59.35 30.10 

SD 25.10 
I 

4.50 
I 

6. 100 CG'@UOcOOO~roosu <m?Jruro 63al6 

([@ ~u .!lJ m.'1 mi ah 0 Gm 6 cm 6) s ~1 ru1 nS:1 db 

oJal1oJOS1ah~6)S nffi6mo ~ro6l.l@c;tjS6Wfm6 

ruo<fb CG'@OJ Cfl>J @c;tj s3cm3. ah1 §1 w ~wrmroo 

cmo@~ oJ§'lahaJlcoi nllruro1~ro1c00Jcm6. 

20-30 30-40 40-50 50-60 
< 

36 21 15 3 

63al6 nn1~~pLWOo rurowc003cm. 

7. .!l.J60J6)S ahOGm6cm 6)6)oJ .!l.Joro§ mo~u 

rruo om o ro CIDD1 ah cJO oJ 6) mis 6 mm 63 ro 6 

@®al@6lmmS6c;tj1@~ ~OJO§u m1e.t@CQJ 

cru J!l.fl <;81cOO6 cm 6· 

(4) 

Miss S 

Calculate : , ®06)~ oJOW6cmOJ ah06Tn6ah. 

a) the total votes polled. a) CG'@)6)ah 6).!l.JCQ)u® 6)0J0§6ah§6@S 

b) votes polled in favour of 
Miss. S. (2) 

nffi6™0 
b) ah6QlOal1. S m ~©1-?z! ~OJ§6ah~~S 

nffi6™o (2) 
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8. a) "Each member of the 
population has equal 
probability of being selected 
to the sample". 

This sampling is called ......... . 

i) systematic sampling 

ii) simple random sampling 

iii) stratified sampling 

iv) judgement sampling 

b) Name three nonprobability 
sampling methods. 

9. a) Median can be graphically 
located using. 

i) Histogram 

ii) Line graph 

iii) Box plot 

iv) Ogives 

b) The average weight of 25 boys 
was 55 kgs. Later it was 
found that the weight of one 
boy was misread as 60 kgs 
instead of 50 kgs. Calculate 
the correct average. 

10. The length oflife (to the nearest 
hour) of each of 50 electric bulb 
is noted and the results shown 

, in the following table. 

I I Length of life (in hrs) 650-670 
I : 

l No. of bulbs 3 

Calculate the median. 

K-923 

I 

(1) 

(3) 

(1) 

(2) 

8. a) "<fo.J8<~:MG:e.Jo.9:lm16)e.J 638~<n8 

@() 0 (() (0®1 m1,o cmomJ1 ~1 ~ eJ cBfi)u 

6)®m6)6Ylml)S2,cB€>6)iliS2/ffi®1m ®@ 

CTUOW~®CW06ffi6~®"''. ~<15) Ofil®u 

®mo cmomJ gJ ow af©)6ffi? 

i) systematic sampling 

ii) simple random sampling 

iii) stratified sampling 

iv) judgement sampling 

b) ~mo 6110 a: l n.J 8 6'flJ mJl ~ R1 cm o mJ1 ciO 

g;Qffi(Q®1ffi2,~ Q:l~(ffiu mi®1cB:iciO 

n{i)196®6d:b. 

9. a) LWOnDU ~n.Ja:cwowl.~?.,f a:iiM1cwcfO 

m1 <ti6WimJlcB€>2,CTn®1m ~n.J ~ CW8W1 cB€>6 

cm® ......... . 

i) nD1~roPLWOo 

ii) 6)6)e.Jcf0 LCJJ8nDU 

iv) 63 gi10J2,cfu ciO 

b) 25 af©)6liOcB:i6§lcB:i~6)S C1DmoC1Dm1 rsomo 

55 kgs af©)6ffi. 63m6 (G'@6liOcB:i6§JW2,6)S 

@8roo 50 kgs n{j)Cffi®u 60 kgs 
n{j)CTnu 6)®81aj2, ruocw1.q.J.®Ocw1 

n.J1 cmi Su cB:i 6) 6n5 <m)1. CID m1 CW 0 CW 

uocoom,m1 rsomo cfu86ffi2,cfu. 

10. 50 

I 

630cxmocrn16)~CW2,o ~CW6CWU ( nfilROJJ,o 

ffimS6(0® a:l6ffi1cB€>601~) ~m@J6)iliSJ,(0®2, 

cm 6. ~ (Q® m 6ITT3 ciO ® o 6) 1.5' n.J 31 cB:i cw o CQfl 

6)cfu8SJ,(0®1m1cB€>J,CTn2,. 

I 
670-680 

I 
680-690 I 690-700 

I 
700-720 

I 
i 

7 20 17 I 3 
! 

(5) 

4 
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11. a) The geometric mean of two 
observations 'a' and 'b' 
lS ......... · 

i) ab 

3a 
iii) b 

ii) 
a+b 

2 

iv) .JciJ 

b) An aeroplane flies along the 
4 sides of a square at speeds 
of 100 km/hr, 200 km/hr, 
300 km/hr and 400 km/hr 
respectively. 

Determine the average speed 
of the aeroplane in its flight 

(1) 

around the square. (3) 

12. a) An example of a relative 
measure of dispersion is ....... . 

i) mean deviation 

ii) coefficient of variation 

iii) range 

iv) all of these 

b) A consumer bureau has 
conducted a survey of cable 
television providers in a city. 
Here are the number of 
channels they offer : 

(1) 

11. a) 'a', 'b' oQrmi OJ~eJcfufil@S (]~p@m-

LS1cfb' mi® ....... . 

i) ab 

3a 
iii) b 

ii) 
a+b 

2 

iv) .JciJ 
b) 63<1\J, oJlmomo 63C06 rrum.!2.1cm6co(l)f75)1@~ 

4 ClJCR>t>ro~1eJ6o cfu~S1 <IDLDOlcfuQ)o 

100 km/hr, 200 km/hr, 300 

km/hr, 400 km/hr cgru(f)cmCQJlron 

cfu ~ s1 rm Eiml co1 c£t€> t/m 6. rrJ m .!2.l cm 6 co 

rnm1mu .!2.1Mi6lil6~ ru1mom<Nm1@~ 

oJ o c£t€> e.i1 @ ~ CRJ co o CRJ co 1 <Z ru w cm 
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(1) 

cfu06ffi6cfu. ( 3) 

12. a) M1 CTUu cg oJ ffi ni1 6) nA <m]) cg oJ c£hl11 cfu 

amlfiloJlm" 63<06 ~BOnOC06TDo ........ . 

i) micm ruJ1oJlcgwniidO 

ii) cgc£nown01ni1~o'A' 63:>nnu airuco1cgwni1cm 

iii) cgo6filJu 

iv) filClJ@CQJ~Oo 

b) 63C06 mwcornm1@ e.i 

@Sefl o.Jlnii cm cgcruru m BOB0c::06)@6@S 

63(06 rruibCl(}J msamwm6. amiruro 

(lj()(f)UBOmo 6).!2.J~:Mcrn .!l.JOffie.J6cfu 

(1) 

132, 128, 131, 115, 125, 114, 112, 129, 1201 128 

Calculate the standard 

deviation of the number of 

channels. 

13. , The quartile deviation of a set of 

observation is 5. The lower 

quartile is 10, then the upper 

quartile is ......... . 

a) 10 

c) 20 

K-923 

b) 15 

d) 25 

(3) 

(1) 

5 

.!2.10ffie.l6cfu~66)5 O{l)GJ;'qcml)1@~ 

~ 0 cm cg Cill ro Cillu Mi ru1 cg CQJ ni1 cm 

cfu06ffi 6cfu. 

13. 63C06 cfu~§o ru1e.ic£n™@s <8cfuJOro@@3©1> 

cu5k1Jl<XCQJni1cm 5 <m])6ffi. filcm1@~ c&eJOOJro 

(gcfuJoro@@§mn 1 o <m])woam ami<;t:Jro 

<XcfujOro@@§efl@~ oJleJ ........ . 

a) 10 

c) 20 

b) 15 

d) 25 

(3) 

(1) 

Turn Over 



Answer either question 14 or 15. 

14. The price and demand of a 
commodity for 6 months are 
given below. 

Price (in Rs.) 20 

Demand (in kg) 5 

Calculate the covariance 

22 

4 

between price and demand. ( 5) 

OR 

15. A stock market analyst has 
analyzed the price trends of two 
stocks X and Y over a period of 
30 working days. He computed 
the following results. 

Stock Average SD 

x 85.49 23.88 

y 112.00 26.22 

Compare the consistency of the 

prices of the two stocks. ( 5) 

16. a) Which one of the following 
is NOT a method of 
collecting primary data? 

i) Direct observation 

ii) Telephone interview 

iii) Focus group discussion 

iv) Office records (1) 

b) You are the marketing 
manager of a soft drink 
company. You plan to 
introduce a soft drink with 
fewer calories in it for the 
diet conscious consumers. 
Develop a questionnaire for 
obtaining the necessary data 
for this project. (4) 

K-923 6 

14, 15- <X.!l.JOB<l~gl~ 63rm1mu QlOL®o ~arrmroo 

nfi)~6cm6c&.i. 

14. 63<06 cruowmarrm1@~ 6 Ql0(Tl.)6)Clffm 

ru1 eJ w 6 o mm> OJ CRJ :i c&.i cm w 6 o .!lJ 6 OJ 6) s 

6)c£b056d1€>6\ffi6. 

23 I 25 26 27 

3.5 I 2 1.5 0.5 

o.JleJW60 cnm>OJCRJJc&.icmW6o ®OlD1eJ6~ 
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~c&.io<XOJro1wcmmr c&.ioGm6c&.i. ( 5) 

ctm)6')~&b1am 

15. 63<06 ~~0d16)u QlOffid1€>Ru OJ1CRJc&.ieJm 

o.JlBWBDcm X, y omrmi <X~Od1€>6c£b~6)5 
30 B10J (Tl.)~~1@eJ OJ1e.J c&.icJO 

o.JlCRJc&.ieJmo @.!lJWcm6. cmo@~ nJOW6rm 
ru1 OJ (0 6m'3 cJO rom (Q) 0 cJO c£b Gm d16)u 

c£b~1@WS6wrm6. 

~~OdH)) I CRJ<OOCRJ<01 SD 

x 85.49 23.88 

y 
I 
; 112.00 26.22 

(0 6n'S" ~ ~ 0 d16) 6c£b fil 6) s (Q) 6 0 o.11 eJ c&.ifil 6) s 
CTUD1rocm ®O<OcmQl:io 6).!l.J~c&.i. ( 5) 

16. a) cmo@~ nJOW6rmOJCQJl~ @@ln.Jalo1 
CWORO <XCRJ6lJ<OGmwrm1@~ QlO&e&o 
rom~owrm® Cl@®? 

i) Direct observation 

ii) Telephone interview 

iii) Focus group discussion 

iv) Office records (1) 

b) cmoro:,cJO 63<06 eJ ne..16 o.J omi w 
m1ro01D0Gm c&.imJm1<Wl@eJ alOffid1€>R1o 
CJ'/ QlO<Xm~ro cnm>Gmu. rownnoro 
le&.> Q) arrm1 ~ <X ffiJ 0 w OJ 0 cm Q) 0 (0 0 (Q) 

~ o.J <X cs 0 c&.iu cm 0 d16) cJO d16)u <X OJ 6fr51 

c&.i606Y'OIID c&.i<XeJ oo1w6~ 63<06 
eJ ne.J6o.J o mi w o rom OJ cm ro1c;tild1€>6 rm 
cm1mu cmoro:,cJO ~<X<3CRJ1d1€>6\ffi6. [Q"O 
<X lo.Jo~ c&.iu s1 mu <X OJ 6rr51 cw o Ro 
<XCRJ6lJ<OGm~1mow1 63<06 
rJ.!l.JoB:ioruen cm~oood1€>3c&.i. ( 4) 



17. Two cards are drawn from a 

packet of 52 cards. Find the 

probability tliat ....... . 

a) the cards are spades. 

b) one is a spade and one is a 

diamond. 

18. In tossing 3 coins at a time, the 

probability of getting exactly one 

head is ........ .. 

a) 118 b) 7/8 

c) 3/8 d) 112 

Answer either question 19 or 20. 

19. A travel club has 1000 members. 

60% of them are males. 45% of 

them pay by credit card when 

they travel including 1 75 

females. If a member is selected 

at random, what is the 

probability that ........... . 

a) the member is a female 

b) the member is a female and 

pays cash 

c) the member is a male using 

(2) 

(1) 

credit card (3) 

OR 
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17. 5 2 c£he>iOM6c£h§.6615 63ffi6 n.J OcOOR1 am 
m1cm6o m611'3 c£he>iOM6dhcin %)56c006cm6. 

®06119 n.JOCW6CTn0JCW6615 cruo@OJJ®dhcin 

c£h06ffi6c£h. 

a) ro6mr c£h o ai (U) 6 c£h §6 o cruu cg n.J (U) u 

<G'@dh6cm6. 

b) 6361ffi6mo cruu cg n.J (U) 6 0 6361ffi6mo 

(U)CQJQ)Gn'56o <G'@cfu6cm6. 

18. 3 cgc£he>mJlm6c£hun 63ffi6 ln.JOOJCR>JO cg5()~ 

61.2J~6cgcru0un 63ro6 ®eJ Q)Ol®o 

rum6cm®1m~ cruo<SOOJJ®· 

a) 118 

c) 3/8 

b) 7/8 

d) 112 

19, 20 cg.2J0<3J6nl'3~am 63cm1m6 Q)C>l®o ~arrmmo 

%)196®6c£h. 

19. 63ro6 m>Ol® ~Eil]Jlam 1000 romo(f)6nl3§6611'3. 

romrum1am 60% cgn.Jro n.J6ffi6nS:Km0m06Trl'. 

1 75 mrl@idhun ~un61~615 45% cgn.Jro 

WO l®dh§.1 am 61 ldhM1 Ru c£h()ro(U)u 

~ n.J cg cw() (/)1cOO6 cm OJ m () 6ffiu. ~ 6l1f 

arf0o(f)6nl'3§_1 am 63ffi 061§_ CWOG~ cmJ1 c£hQ) OmJl 

61®ffi616roiID56(!ITT)Oam ®06119 n.JOCW6cm0J 

CW6615 cruo<SOOJJ®dhcin c£h06ffi6c£h ........ . 

b) <mID <mzJo(f)o CIDC>l®dh§_1am n.J6ffio 

~ n.J <Ewe> (/)1c006 cm 63 m6 

m)l@l<WC>dh6cm®1m. 

~ n.J cg cw e> (/)1c006 cm 
n.J6ro6n.9:1moc£h6cm@1m. 
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(2) 

(I) 

(3) 
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OR 

20. A student is appearing two 
examinations in Statistics and 
Economics. 

The probability that the student 
will pass the Sta tis tics exam is 
0.6 and the probability of passing 
Economics exam is 0. 7. The 
probability that the student will 
pass both the exams is 0.5. 

Find the probability that the 
student ......... . 

a) will pass at least one 
examination. 

b) will fail both exams. 

Answer either question 21 or 22. 

21. One bag has 4 white and 3 black 

balls and a second bag contains 

3 white and 5 black balls. One 

ball is drawn from first bag and 

placed without noticing the color 

in the second bag and one ball is 

drawn from the second bag. 

What is the probability that the 

ball now drawn from the second 

is a black ball? 

OR 

22. A student is asked to answer 

questions from three parts A, B 

and C. Part A contains 25%, B 

contains 45% and C contains 

30% of the total questions. Out 

'of them 5, 4 and 2 percentages 

of the questions are respectively 

wrong. A question is selected at 

random and is find wrong. What 

is the chance that it is selected 

(3) 

from Part B? (4) 
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cum6'>~an1am 

20. 63ffi6 ru1 BJOro®.01 Stat is tics -m6o 

Economics -m 6ai o cw1 ai 6TYSV 

o__l ffiicfu9jdb§j afO nJ 6)a:b52,c.B6)6(ffi6· ®LlCWOcJ6 

Statistics nJ<nicfh91 ~coJlcB~\sOJOm6~ 

CTOo@OJd(()) 0.6 ~o Economics nJ<Dicfu'l1 

~mflcB€>60JOffiJ,~ cruo<SOJJ® 0. 7 ~o. 

ffi6n'Su o.n~cw6lJB™o ~mfl<fl6)60JOffiJ,~ 

cruo<SOJJ® 0. 5 ~o ar@)6fri'. 

(())::)6)\j> nJOCW6(ffi0JCW66)5 cruo@OJc)® 

c£b06TI\sc£b. o.Jl BJOro®.01 ..... 

a) 63ffi6 nJ<nidhl16JCW!lb1e.JJo ~co.f1ce€l6rm 

®1m 

b) ro~ oJffi1rB1J:jcoJleJ6o nJ<nO~W6l<JjSJ.,rm 
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®1mu (3) 

21, 2 2-Cl..2JOBJ6013fil1arn 63rnJ1mu QlOl®o ~m15)<no 

nti) lj> 6 (~\~cfb. 

21. 63C06 m.JOW1arn 4 6JOJ~ffi}CQJ6o 3 d3:>C\!:<;8do 

ci ffil o~cfb~ 61"@. ro 6TI5 8Q) 6>® om 6 m.J o w1 mi 

3 6JOJ~CW,So 5 c£b06<;t:j6o Cl6lli0filc£bci6 

~61"@. 63ffiX)Q)6Jm15) m.J:::>w1amm1rm6o m1oo 

ClffiOcB€>06J® 63ffi6 al61lJO~ ffi6fl58Q)6J®ID 

m.JOW1~e.J ~v m:::>Ri cwcm1mv alC!O~o 

ro 6l15 0 Q) 6) m15) 61'lJ 0 w1 am m1 rm 6 0 63 (Q 6 

(gffil06J§.S6<fl6)6(ffi6· gQ66B6Jffi ffi6ll50Q)6J~ 

61'1JOW1arn m16Jffi)56m15) ClffiJOcib c£b06~u 

m1oQlOc£b6cm®1m6~ cruo@OJJ® 

c£b06ln6c£b. 

CUTl>6'> ~ IB> 1 ml> 

22. 63C06 c6:>6§1cB€>u ~m15)C0o nffil:?6®0cro 

marnc£b1CW al.!l.JOBJ alnJ<Jj01arn 3 nJOC0§6cfr.>cfO 

A, B, C omcm16l5B 6) rn w 661"@. ar@> 6lcB:i 

Cl.!lJOBJ6lJB~6JS 25% Cl.!2JOBc)6013ci6 nJOro§' 

A coJle.i6o 45% nJ:::>ro§ B co.Jle.160 30% 
nJoro§ C mJleJ6Q)06fri'. rom@1mi WLDOlcB:>Qlo 

5%, 4%, 2% Cl.!2JOGJ6013ci6 6l®R06fri'. 

CWOB~cmflcB:>Q)OCW1 63ffi6 db6§1 

6J®al6JGYOIIDS2,CITTm Cl.!lJOBJo 6l®ROWOam 

mm® nJoro§ B Wiarn ~ci06l<Jj§®OcB:>om@~ 

cruo<SQJc)® cB:>OGm2,c£b. 

(4) 

(4) 


